GN 612
WA B

- B EER B RN AR,
- AW H,
- BEAIR B W FRAT(A AKR),
AR EWRF AT R 67 %R REPAT B UR A0t
#, TEWEFRAAEB, BKR),
A, L, AR DA B A A
B AR E BN E A HAK, BKE),

w D4R G4 0 4435 2 3 UL B 0 GNB12.15% 2 (5 1L 4408 T0),
K

CN612% oK%, ATaRALAREEHRN TS, KR A
180, o EHALHNEND, FAANEL-—MFOBELALME,

1
R

GN 612.1

e
1

L

d ) d1 .
o FR~t BEEN B8
—0.02 -
—0. 04 iﬁE ﬂkEﬁ
mn e d d1 D | 1 R L N-] IN-] g

GN 612-6-M16x1.5-A 3] 99
GN 612-8-M16x1.5-A 8 M16x1.5 16 30 10 32 16 12 32 102
GN 612-10-M16x1.5-A 10 103
GN 612-8-M20x1.5-A 8 111
GN 612-10-M20x1.5-A 10 M20x1.5 20 36 12 37 21 21 58 114
GN 612-12-M20x1.5-A 12 119
GN 612-6-M16x1.5-AK 6 134
GN 612-8-M16x1.5-AK 8 M16x1.5 16 30 10 32 16 12 32 137
GN 612-10-M16x1.5-AK 10 142
GN 612-8-M20x1.5-AK 8 146
GN 612-10-M20x1.5-AK 10 M20x1.5 20 36 12 37 21 21 58 149
GN 612-12-M20x1.5-AK 12 154
GN 612-6-M16x1.5-B 6 101
GN 612-8-M16x1.5-B 8 M16x1.5 16 30 10 42 - 12 32 104
GN 612-10-M16x1.5-B 10 110
GN 612-8-M20x1.5-B 8 113
GN 612-10-M20x1.5-B 10 M20x1.5 20 36 12 52 - 21 58 116
GN 612-12-M20x1.5B 12 122
GN 612-6-M16x1.5-BK 6 136
GN 612-8-M16x1.5-BK 8 M16x1.5 16 30 10 42 - 12 32 139
GN 612-10-M16x1.5-BK 10 145
GN 612-8-M20x1.5-BK 8 148
GN 612-10-M20x1.5-BK 10 M20x1.5 20 36 12 52 - 21 58 151
GN 612-12-M20x1.5-BK 12 157

@ Iele‘a,'.nnnl‘in“ “ELESA" and “GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




